For past several years, the kingdom of Klingon experienced a falling GDP growth rate with an inflation rate at 1%. There were many Klingons who were working for part time because they were not able to find full time positions due to the economic situation. There were many Klingons who lost their jobs, and couldn’t find any new job. Some of them kept looking for new positions, but others had decided to stop and wait till the job market improved.
This year, the kingdom of Klingon is experiencing an increase of GDP growth rate with inflation rate at 2%. Klingons who used to work for part time now are able to find a full-time employment. Klingons who were not working, nor looking for a job are now starting to look for work because of the more optimistic economic situation. They have start to search for work, but has not succeed yet. 
Which of the following statistics for Klingon best describe its economics condition?

a. Official unemployment rate (U3)
b. Unemployment rate to include discouraged workers and part-time workers for economic reasons (U6)
c. Labor force participation rate
d. Change in the number of workers with full time employment
e. Change in the number of employed workers full or part-time
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